
1) 170 ÷ 10

Answer: ____________

2) Decrease 40 by 60%

Answer: ____________

3)
19  Find Volume of 
               17       Cylinder 

Answer: ____________

4) A number was shared in the ratio 3:1. 
The smaller share was 14. What was 
the larger amount?

Answer: ____________

5) 72 ÷ 4

Answer: ____________

6) Simplify 7:15

Answer: ____________

7) A number was shared in the ratio 9:6. 
The smaller share was 18. What was 
the larger amount?

Answer: ____________

8) 53.3 + 49.2

Answer: ____________

9) 10% of 21

Answer: ____________

10) (9 x 87) + (1 x 6-9)

Answer: ____________

11) Round 27.9862799 to the nearest 
whole number.

Answer: ____________

12) Round 14.2925705 to 2 decimal 
places.

Answer: ____________

13) Increase 20 by 25%

Answer: ____________

14) 200 ÷ 10

Answer: ____________

15)

'Name the type of angle.

Answer: ____________
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16)

'Name the type of angle.

Answer: ____________

17)

A = 34  B
Find the Angle at side B.

Answer: ____________

18) (1 x 3-1) / (9 x 6-8)

Answer: ____________

19) Decrease 25 by 48%

Answer: ____________

20)
32

9 /15

Answer: ____________

Total: ___ / 20
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Answers:

1) 17 2) 16 3) 17250.485260862 4) 42 5) 18 6) 7 : 15 7) 27

8) 102.5 9) 2.1 10) 18874368 11) 28 12) 14.29 13) 25 14) 20

15) Straight 16) Straight 17) 146 18) 62208 19) 13 20) 8
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